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e Accordmg fo Boyle s law the pressure of 2 225 is inversly proportional \wth’-"‘
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8: The difference between real and ideal g2s, that the real gas interested in?
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4)’/ 9: It can follow the direct prupawdhet-een temperature and pressure through the law of 3 42
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10: The behaviour of r%gas is ideal when the wallue of Z is equal to
Answer:  (a) Vis< V% | : b) Vo> Vo, &) Va =V, d) Vm # VO,
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Q2: The following data have been observed for 300 800 mg of nitrogen gas at 273 K. Calculate the best value of the

molar mass of N2. p/10°Pa | 0.750 -3 0.200 | (25 points) - A
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Q3:A perfect gas undergoes isothermal compression, which n-duns its volume by 1.80 dm3 The psand Vf of

the gas are 2 x 102 kPa and 2.14 dm?>, respectively. Calculate the p..,... of the gas in (i) bar, (ii) torr. (25 points)
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